Clon N ol g 50L 5 ade dolilas
IF99 Oloj IV 3y lod o0 55 Jlo

S Solowid Og903T Sl gl Nl
‘qu oi Sl blasw! yo

" e Loy wosxo
"ol 5 ne
" gmg P!
2 bt ol
7 30T 5 059
VA0 F 13l s syt
WYY 1k st
by Wl £

o>

jo.JJ}Z_fb)a%;/&f;&ﬁ\:gwl)cQT}‘f)Jj::)f@Ol.;.:d)\:.éf

10.22051/j1r.2020.27525.1762 :(DOI) Jkms > awbis’

€Ol gl e oD 15T ol ¢laal domlg ¢ San s Ol 05,5 ¢ SBan bl 55575 (5 gmiils |

mr_afshar@ajums.ac.ir

‘@M_.u\ b\)T aliid‘.) ‘Q\.)L:T A}‘} cugl_i».h u_..ul..&ub) o}jf)l:.idb nga‘ Qb) J))AT kS‘A“A’J ngfi

b.gorjian@iauabadan.ac.ir ¢(J sus sl $) 01 1 OILT

Ol g piply oty ( SLKan (alisOL5 03,8 SLtils ¢ LK an (b0l i (517>

drveisi@khz.pnu.ac.ir

TAE e - 4 & il F W& s eld
(el 33T o8l ¢l ol Al g ¢ SLRKen  wlia Ol 0s 8 Hlsliul ( SR wli2 Ol crwads ol S5

s.snsharafi@iauahvaz.ac.ir ¢0l ;! ¢ ;| 5!

el 33T o8 il ¢l pal dmly ¢ SLKan nlid L) 03 8 sbskinl ( SKen (wliBOL) pamaiu ) S5

m.shekaramiz@iauahvaz.ac.ir <ol ) ¢l 52!



sl (Slee blosul jo B g lois o951 obdbgls OMSe I Y#A

(Sline () p b et ) (Sin b i S La0T 0L L T
QT;{;: T J_:h & pomad j.i.'\.;o\gd ewlsline 5> Las b
.d_ml(a}’kfg},:bd)o\gjwt};ﬂ)\f@j 30 G el Hl5bs
sl b s PL) ol o i g Ay 4y glime Dolized s colged
LAl and y> Las & ol ot o s .:ejfda By slrab ¢S,
ORI M () 38 o B Gl 3sm s slhs 5 e &S
awlie 53 (g lid Caud 3 ( o Oga30 Spl O gls 457 Cslosls Ol
ol eop gl dmils (g lalian Cand clay 5287 e s 56 050 5T OLUL ls b
Jsol Bl s o s line 05,5 8555 A Sl lls oyl ) &0 23,
s es s .g;_wlus-l;ﬁ (Grice, 1975) Ll 8 & b 55 ¢ SKan
o8l 555 ol Ol oy g oR8ils O 5T 25l 51 PY ¢ 2as
Dl ey 8 Ol sanaid gs”"‘“ G348 s gy (Dl 1T
(R 3 Lk e S nd 5 S 058 93 4 B oid 0a5T
Az a E o gy, S 53 dmlie s Laesls Jdos gl ¢ it 5 05057
aon Sl sy Jool et 05 8 53 8 OB L5550 5057 (515 5ls DS Laasly
Slsis 5o ol 51 CiiS 5 osed cCuaS lo Jool olulid o3y joslu
o35 53 8 53 ¢ 35 (Sline 255 Golsds fp e (a8 ool ol

23S slowl

il 8 ol ¢ s (slime 0L (mlitis 1S SIS (SO 5Tg

dode .
L line <5755 5 Ole 3 1) 0Ll 0L 3 Slas o7 ol 0L andllas 31 (glasli (0L (ulis )87
iy ol An3 o 13 sy 3550 SIS Sl Jules 3 S50 ols s O (Aad 4 4
L OTS S0 Loty £ 5 0 &8 A8 o ooy 2 5 S o) 5o S 55 5T o i
sl (Slimn 3515 5 o bne 53 4 (sl b o) ) s 2 U (o) s
3 NS il S 3 e 5 Ly ol 8 it 5 0L 3,5, @ 4 5 b DS bzl s
S e 2l ol (Yule, 1996) 508 o Gimes ol 5 5 0k g <5 2he [Hil5 5 un g0
L oy 58 5 pate i 51 pMST o 4 55 0T 5753 5 55 o Ol 0L b o7 ol g0 s

! literary
% non-literary



YEA | Ol olRtils agol; soks dalilabd

A1 ol e pBls 53 s 4 Se b 53 ST i oalie 50 LSl Sty (e 40 4
B L e s Slan L 0T o e 45 Sl (3 5) (o 855 1S 2k
O S35 (61 (o s (Slime 3ol i3 nl 55 ) ol . (Potts, 2013) et o
b b 5 5 a4 S5

a5 2y 0l gen b oo OT 5145 G EUE Glablinal oty dhor Glins (s
Slme 31Ol 5 Sglite o 4y Glid 5 5 kS 55 08U 8 slablazal . anlos y Olulia Ol
el S s ol (Allott, 2010) 5505 (S 0 5 S sline 55 4 (gl b Jadl
slacge Bl 5533l 08 S ly e b g ol gl Cbgipw cSoglite Slae ol (Ko 457
Sl blizal (23l dia 3l odl g5 5 L sd o0 Ols  ows ol Dojgem & Slas (5 cdlas 57 )5
a0 a5y 5L 53 iman (Verschueren, 2016) 5, o boT a1y glins 4 b
(b5 5 s L i a5 5d w8 IS Bl 5 5 Glre o e st
358 Jor (S ol dlis K oo ol i & STl 395000 31 S0
.Rizaoglu & Yvuz, 2017)

Clod g 580 oy e Lz (e 55 (Sline 4T Sl 5 s
93,08 (U\S RIS SO o g L3yl CM 3 Sslame ¢S50 (63,3 8 (Safavi, 2008)
cadla)ls (6 805 Blaal va (e 5,3 . Csles s ol ol 5 plite oS S e ool oy S
e 4y i Blsn (g ol e g o ded sl Slime b S sl L
Sharifi) Coledalie J6 Sl 0l siils 55 48 L sd o 0 (glrasls L2ST5 L 5 Lo
o 53 JBL Gl s T 53 48 Sl oy s (line 55 ol (& Alipour, 2009
Sl S5 ol Sy TP oM Cannd 53 13 58 o oot Sl b 5 e 65750
23S o Oy (s o (linn b (51428 LaOT 18 &S5 5 das o 55 L 53 o S14SKe &S
2 (B0 83 g ST oSS o o ln (e (s 5 (s Dlon b Ly 53 g 5 cals
Allami & 18" blzul |y o sl Gline o5 4 cCmwlaiuil g S yd Ol o S50
S o 58 58 KseSG L Oy gy 43 i 55 i ges sl (Aghajari, 2014)
b s c_n.ubn oml s ‘.,\_;Jf & £9° S8 5l Jwosgd b sl o)l o0 0Ly s
S s o5 Sl iz o Enlos ST 51 oo 40 8 05 15 s o i B
R 530 am S hg 30 o S 03,0 pU 5 G5 3 5 el 2Ty LB ey
das oo 0Lz (Grice, 1975) ) £ o8 ws 511, (bl Juol dliews cpl . Camslos 35 paben



el (Gl blaul o U gl 93] oldbgls CMSe [ YV

Jos i 55 0pl 53 2 s sy Gl 5 iy Ol )bl L1 alb 55 oS i o
Slinn 65755 slime = blinal foe 5oy 8 Lo g — s g (Sline sl (sline 4~ s o
U5 315 55 (Chiou, 2010) 5 55 e plasit (o 8 0 3D i s Lo 5 ¢ om 6
Khalili ) s 35 s oo b A 5 Lol 0358 oo odmion B0 09037 53 oo 5l bl
i)l iy 8 0L g 2ils LT aS Sl ol 2as% i (Sabet & Babaei, 2017
Jr dsolaanrs b ol 6W¢5J>)>‘W)6;5;Mcb\fb\f}§}ij
1) ConeS (PSS Coms 5 Sl0) kS bl ezie S (GriCE, 1975) ) 8 4
Sl 58 4 —(m o 5 83, 0L o5ed (§dsm b oIS B3 Loy ¢ (S i o510
Db sn03y8) anlsl 53 U (g s ) (14 gad TS o Jas

..\;s&wc‘,w,%&*};ws«s;u;g;

1L 01 1 e

Sz O sgtiie 1009031 oty o7

ST 1SS el g sl 1 (LI

Ll b een dien skl (O

30 b 4 ) eaildal (-

=S Lokl g (5

) sl Sline DLzl Joe (S Ol 1y iz 4y B 0 g50 55T e tn s oal 53
Sl g sl 51 aS 03l iy glate ok Sy 0l 4y 58T Clesls plowl o5 4
s e il 0T o7 3,0 Yozl kS Sl i 4w 8 8T il 5185 1 Al
13zl s e gl Codlasl 4 0 5 b0 DS AT Olasl | 1z 48 ST sl axsls
ol ssb sy lac sl o LS gyl mdlasl | skl L;l.m\:.&fml}:} ) QT\J,:)'
)15 3,08 ;8 (5LKen sl 51 oy Jool 3,08 e 8l )3 il STl 5
30 5 S o oty o At & 18 oSS b O i o5 bl b ok g2s 15
SNk kS OBty o3 4 8 o 5 s> (ol Dzl i 511 0 3L 0L
Cenlo ga 5 05 4 by i ST Olssl | 3 4y S

B L Nty X3 TRCIIW| VY S
i Ly S il gla (S5 4 b oisid ool Vot )3 s o o 40T e
Lai (Layy) (6, Kan Jool [ 51 Coda ST s, ol 51l anls o35 4 55 51 Loy oy S



YV [l olRtils mgil; soke dolilas

Holtgraves, ) 55 & cls a8 o ¢SS o 5 (gline 555 4 8L Sledb| sl 5,7
1 OT 45 glocy 8 ey 5 0 5 42l (555 ke L83 1y st 8315 55 2y 5> 2008
Cewles ;S 0Ly (Ascher, 1993) ,aT .ol 5,7 Lis 5,5 B S w S gl s
oS O Shdons ol ke sl e 35050 5 ol g5 3 b Sl 0305 (s o 5,8
i A8a (Oler) S3T 55k 4 3513 odteue b (Slinn w315 31 g 828 A2 o SVl o8
ole o sk «(Can you shut the door? usb) 55, ,I5 4 Cojlaze Sy o b il g5 dhax
L) 4y (35 ST oty i ot 3,105 OT ol 3 (2 oy S b g 5 435,08
(Pond & Siegal, 2008) s il S o oo 15 OT 5 o 05 558 (S iz
Lo 5ol o el ssly (8 S5 85 A1 4y ol SVl 15 Wles ST 0L
4S) Glamiw g 3 b A5be ple (glaadlSs 5k &7 ol s (Levinson, 1983) o5z )
Jo by el oy 51 i 3l s (Sl 5 587 Slin (5 I )5 ome Jlutie
(Roever, 2004) 55, iz 8 555 0 &S 55 50dd o 08 515 o JHls Cub jwolie
el 3L ) el (Gl ek Sl e 5035 adie ) (e
4 i o Sl g 6 S35 61 3 350 5 1 O (58 87 i 55 03k
Ay oo o3l Sl (Sl 45503 (6 s il 5 @IS (nd e L 4 4dISGe )3 L bl
o S ks o bl sla S e 8 o Ol 53 53l Sl el o Y S
)LA_;‘QAJYJS/JKLJAa;b%))‘)JJJAJYs;M‘g;SM))\JJ?)VAJ)jAjYJf‘\qu‘.U
2yl
52"y 2L, 4 (Sahrai & Mamaghani, 2012, p. 18) Sliws 5 ol >~
WAL 5 WA La Jlw )3 0593 03 53 (63l 5 i)l (Gmios Sl sl eT 2L
2 3 ekl s Ol S 80 4 4 5 U 6T iy Sl 4 LaOT izl
PN ilos o s, OB i 0 ga3T 5 Slas ¢ IS s 4 48 S8 015 o 0057
53 idey 9348 S8 Wb es 1S s 2spe S Dape 4 Solgs p el
5, s i ol s O wasy saT ‘Jii-’ Ol 4 (Cmlods (S 0 pad o S (5 1A
S olge 5 08 w30 50T Cand QU154 L Ll 5o ol ol e & sy s, 50 1 o
S S 55l iy a0 358 b e 05057 (oIS Gla S grabs ol

b~ g_;j‘ijaj‘“u"ag)s‘b‘ﬂjQ‘”“"f)‘}‘&JJL:““G‘ﬂ‘dLLMb L;\J.v«f.bﬂ:yb—

Lwell



sk sl .IoL.Nwal 5 BU g lans uyej oldbsls u)&....a I YYY

=y o S LIy Y el )8 s LOT das oo Ol oS Llesy5T 1,70 L
3oL 155 Lol Wlods iy WOT ar ST cily 53 dims fraly (s 0 Azl 5 oo | s
&S ol 3l epl pls I 1YL 5y s dile (DS (gl Josles 53 1y 0L s lis
SLss Lol sl 5L [8les 6las s (b pd &S opl i Olg o (0L wlids )8
Ol (s )8 il 5 oS (61 Al AST ) gl o g5 ol b O (5Ll )87 il 58
ki S a5, 8 3 Sslie g Slae b b ge L 5 5me 55 STl
5 0ESU Y Y Jlo 5l 0 as fo SLT BL a8l (655Tok @ p3Y das o 5 0T
4S5 Olas 031 Ol o ¢ 1l 51 g 028 6 sl 51 JB6 0505 55 L0 gy
a5 Jnl Laesls aan 1 culosy Olug 55 ' S Use 5 o8 Jobe oy 000 S ¢y gun

ol el Sl 5 OL S oy (gt 0y S0 La HICET ol |

S Dszsler ¥
A 53 5 0355 o 5 BB (glibline I Ja 5 5 03 03 58 ey (2 5 (Sline
Lo S ST ot ¢ b 3ty 1 Dlelr )l dhas SO SUSE ladonn 5 baw i o) &
48 el (sl el WK e (Bianchi, 2016) colois i g,k
355 4ok - b L (Grice, 1975) 15 (Levinson, 1983) 55, » ,I5 4 4 s
,g,_suﬁ}u;d.up,y\)ﬂ}rﬁuﬁd\@\ag;jw‘w&gJ,a\4:\)\,3
SISan pl il 0t 5 0ty 8 o ($5n al p sl gl ST 8 o sler
Kheirabadi, ) ast o8s 5 5 amale &G gz &30S b 55 8 das oo iy Sl
il elar 5 Jid aib 5 SL5 o Kon b ansls 55 51 508 O b g 51.2013
P sbiee oS by B S o g s 5 S 2 51 55 sl
@ladlin 55 b & 0L 93 o Sl 03Y () pule 5 b e e 0 0320 L2 e ulys
s ow S 5ci o b gs glalls 5 odd ) p

3L O3 3145 AT o 555 41 OS5 (83 55 0L 3l (oot O3 5,513 ¢‘§'~‘=
op;k;u,;@w.w@ujguy;t;;;Mw.@to,m@,uog;,
05 0S5 5 S o 15 0T Lty 0L5 s g Slae 5 48l JUSH 2 5l 4 (5530
55070b5 &8 Sl b .(Chapman, 2011) auS e eslizal |y 3 6 SU3 Z;iﬂgﬂujfrﬁgb.

' Monaco
% cooperative principles



YVY | Ola il olKeils mgin ol sole delilad

FSn ol pen a5l (532508 SE1S a)ls S Sl amelr 53 L 5 el 0L 6,813 Il s
0L g5 g las 5,8 Gl Oy p ol slalbes o 5 5 A8 o iy L5 sl ,lee
.(Macagno & Walton, 2014) s S jesis |,

SRR Lty ¥
ULl (glime Blizl 53> el 05 (oS ool 3 (o g5 Slimn 3 )5 sl
ef)sﬁt,m&uu,}s,uﬂ&w\fwmdy\@b\schﬂsgm,:@
rl sLaasly g s Sl L SICT ) saie Ol 3 5L 65l 5,1l 5oy 8 st
oliss )8 48 Glas S il il (63,8 Coenl Llg o OL) 3590 53 hash
Eoy 5 o8 ils 55 35 Syl OB o (glly oy g 4 i b g oy s o ) e
oL il Ol e ils U Sl (S 0L5 s b o 1 (o (oliis 5l87 60 s
ST o8zl 53 dsloghs Oyl 4y 1y 3550 5 lite 5 ol agd &S o2 Oblen L bl
Juﬁg,gwﬁ;to\_g;wuﬂfoqﬁ&u Gl olids )8 oy dr o3 (o e
Jab - o1 51 (Chiluwa & Ofulue, 2010) 555 o a1, oz Sl 5l S
Sl S ls a8 e 1y o O el s (225501 OY g 4573 5 5 O 55 8 (5003
S35 g |y ol S eealin 03 4 (el poalie ST o ST Ol 2015 4 o o
Slesles g el Olgar 3 4S8 Sl g4T3L awls (Dabirmoghaddam, 2004) ws
w8 Sl A opl 3 G (ol Sl 05V 03 50 1 (Gl (81 b ol 53 o jlaie O
.Momeni & Azizi, 2015) 5,5 Cenl jluw o) 50T CIlas

CehlB)) (o s (Sline jadeis 0505T SO ey Ol 51 (Hom, 1991) 0550 5L«
S CI el 0 o e Pl e ClB Y I e S LY el
= |y dlone LB 5 (g bl ) CB s (colesls w1 (Grice, 1975) w1 §
S P o eslal s 50 35050 ol (om0 5 4 (o B Slme Gadets las 05051 )2 01y
o) 31aS aeS e Nzl (Sadock, 1978) ¢S guw a5 ol Il 53 opl okizens S

j|.C,_w\k5))J_..éM&))@ﬂﬁ&gﬁid\ﬁcww&_&ﬁc;}u&M«JJ\}»

calculability
non-detachability
non-conventionality
indeterminacy

1
2
3
4
3 cancelability



JUETY S R P -IOLNW-HI 5 86 6)1M uyo)] olllbgls u)&....o [YVY¥

L S e attie lIISe o 5k S ikl o (6 AL gl O g 4T S o J¥ otz
degama a4 1y B hlB ESSe l rman  (s14aJS b el ¢l B
Chiou,) s ol 5 osdhe .ol LIIE 5T T pleld 3 OIS 3L OT 53 457 sles s
2 SIS s b5 O ahg g 45 Cslong 3l 4 samme &y Sl (S35 55 (2010
O3 Ol by g o8 pdi by o8 5 d sile ) s late Ol )5 (glacals OLS I 65k
Syls alie 5yl 5 ol

el 155 i 5 (5,05 dhar o 457 555 Ol (o o (Slne b (Slahar 457 oSCa
Ly LS 3,18 a 55 sl a5 e g0 (61 ol | bl o o5 (slime 05,57 OT
Lo ol iz a ol arl g CanSKi gl 5ty 45T ST blinal (S oS dns ol
oLl !5 50 4 (Grice, 1989) cs (3L 5 p3Y (14dlSa o o5 Slinn 51 3
0,8 5 ol i 5 Ll iy ( Kon b obie w5l dlar 3 (5 mobie b 5 8L Ll i
Thomas, ) wis o alex 53 2w sl (line 38 o cliteas 3Lz LU ol gl S
(1997

SRR B Gy )Y
S35 GUlg sl am U aSl Codei s fonly 5 Sl e 4 03T 0 s nl 5o
0L sl iyl mlid )8 0L g 2ils ST 4 b (gluis 0 5n5T 53 o sl (gline
LT el oo 3 Koy Goed 5 Loy (ZpaS ikS) [l § (680n U sl 1 S
o G 5 by (28 (k) il 8 ol 5 S 0 53 (o (Slime 555 G5

Ca,ls Sl Camd 5 (558 i)l ol )18 0L geiils

o3BT
031 55 o sl Gline S 5s lallas 05 5 o 51 (Sl camlin o= ol a5 Sbws sbts 4
iSO s 63,8513 383 (o) 2 3550 0L 0151 3 olxsl (slagealy ol 03 (5l
) 3 A g 5 DB b 13 5 obile B Oliomen Wallast pl ooy ) i 5 105
2 s Slime 03 5 s 53 05 01,815 st lis )18 (slaelasl 4y a5 (s,

! reinforceability
2 non-detachable



YVO [ lajl ol&iils aghob; sole dolilad

oly 5 abs ) (blomwl glalos opl Po b cils 0T 1, 08 1,5 (g lais sls O 50T
5 st 5 okl sla tgy 5l Lalls ol Joldowd 5 4 o 5s . as 31,1 0T 6l ol
33 Cwlod s (:L>u| ad> 0 95 )5 g ool .r_i|o>j. o 8 @lﬁn\{&lﬂﬁw; Sy bl
lime &5 55 53 g lid 5,58 glalles sl b 5 ol (6HlT Cas 5 osls (il a0
Slaay 5wy an 8 a8 w5 8 psan pmen Conlods JIST iy 8 53 o sl
s paiia Lales g5 b s el (OWT G 5l bilacls 1513 Ol s o b 31 ol
b adie LOT (g lslne Sislss 5 Wsd Ladie osle glaay £ 5l oo Bl ol glaay £
el (slme ¢STy5 il Cand 5 (658 O smils Ol (ldms o claosts 1 o3lizul b o

W28 8 plowl (gl (gl

OB B oFus s WY
lroliils 3l aid,l wlis 18 0L g 25ls 51,8 9Y bl Jings gbeodiS” oS 4
sl il (B3Las Jhgs 4 oS Ln g Slal (oDl ST o881 5 55 ply Ol par g
(JLw OY LYY 50) 05 s FA 5 (D 0F B YF ) 350 & VP sl (a0 T Ol s . Ldd

..'UJ‘){

R slpl.yy
YO ST o 4T (g ylins 05a5T ke (Sharp, 2015) ¢ lucs Jb 05037 pam Siow
YO ke (Bslas gy e OT o 5 ks Obusl e s 53 (68 5w b chzbls
e S B (S5 5 ST s L ol l s bl gley 8l Jl e
225 s () 0502 F (0) Loy ¥ (7 lta) ST YA sltw) a8 ) s Sle
CbBLY s S LB Ale LS Ol 51 48T ol (e ey 1 (K dslons ok
1989, !5 48 i oslinal s Cobls O (6, 2 F Coylate o CB Y 5 AL ol
S ol 03,5 Ol gy Lz a3 03 S &Iyl pu b slas Lasis <l (Grice, p. 42)
ol > Seslinal ou sl (Glime Laeis (gl LSSl ann b (31 1 Ol ad s 4
i pll sl (6oliid O 5a3T 53 oy el pl 5lzel 5 o5 skt 4

Al (el ) (g ils Vg bt ol ¢ U ST Gla ey s lzel 1

(r:v\?)wﬂjbjbd"_ﬁj—"&j)LUJ_&)T&‘jJ}MGJ‘J C,J",st)b L{""l‘li" QL) u:“J)*’T

! test-retest



sl silee bl j5 56 (s lasis pge3] llbogls S3Sae | YYF

3 eSO 5T ay 55 ol sl e o 5 05037 (o5l slzel k5§ anlons
Sline i 25 S i 8 15 a5 s Bl ol 1 oy GLKen (30U
) 35 53 i el DU (1 i OL5 g1 S5 i el e ! o) 2
3 i Slze) ol 53 oA S IS, asll 5 O Ky S5 i B b S tagy
.u)“\_ﬁ\;ouguﬁjfégﬁwa&\,)..uudgijuﬂjxL;u,u»\xs
L;l_:xug:,.l.&«\s\f.\.:.:&\:ol:.:.x._..TL.»|..5)13sﬁj.\gb\whqfé.pw&):@\jj\&\w
B O3 53 53 e b Glae Bl |5 60l Sl JSin Sl 0 513 ol e o
il K 0k 550 5037 U5 (St 4 Sl K shain Ol 5 ool Soglie S

sl
06 52 0 53T 51y Sy 0oy 7 00131 4SS ) oy 729 s g0l 0 0 5 2
S b oS 555 4 B Sl 8 n e 550 55 5kt &S ey 0
0T ou o slims sl Glaalan ololid 51 uy Lz Sl sl Ble 5 Sy OT
5 by S (i) K Jol p g g0 S sduaid i S Ken fol sl ol
23TV o3 Jlaaes 53 005 an S Y0 o Jazto 4 0057 cpl a3 S asetin | 0T (o5
s PY O L Ol 505 el s (oSl 31T olSils 1 pal O oo g slaoils

ST Judodi gy ¥ ¥
Laasly 5 23,5 )13 bT w5 45205 35 90 5l 238 50l 557 0 g0 5T alons 4 Laosls
Slowia wab b laesls slaw B candl iz g jloin 05 5 55 Jlas comte 3 Laosls 457 sl oL
s 5 dile &S5 byl (sLasbeT 510155 o0 eSoygo ol 53 3,1l ile :S0Le 0340
ajj_f.c,._é;arg.g‘}él:L;)\.\:;ﬁto}»jTﬂ}lSGsbuéf):):aj;)::}ﬂa&wljﬁdlj
L;,smfﬁ,vu;l.s'c,ﬂg@,al,uwﬁ’/fv 3 e &S La g glaediSTES 5 (i
Sl Cannd 05,5 53 5 313 Cys Gealy o i IYY 51 S w5305 8 Lol s 8413
- Il 1y el ;S (68 U sl ST O o 50 3131 e sl e S ar BT £
03l b b et 4y 3 2 Cind 03,8 L nglin 53 0T o1 0L 230 Ll i3 S
sa3T (s lae 65753 53 p305,8 Sl L dslos 8 8ok ¢ Jizn 5 0057

Add dslae Jél: ol



YVY [ aslloliails sagi ol sole dalilad

sl .
e fol ) ¥

O caalsl 53 S e a1y el S CeaS ol Sl 4 S ki sl Il
1 e Bl s b S oy

(v;um(.,;,sufjg\,@)ndu”esﬁm;,ﬂ\ouw\,‘mq,f,a

LS Oloa [y Il i Sl 0Ty caig 31 SLeDbl €51 L o9, ¢ S 508 (ol 53 .S L5

1AV }.x_;.u_}fﬂ\)«;»g;_w,;'c.ﬂg'/.\f\ OB X580 903T Ols 518" S8 WIS 3 &S

lasls sy 1 (0 4y STV 5 i &y 5 LFA b 8

1. Man: I can’t stand this class!
Woman: Well, you might as well get used to it. You have to take it in order to
graduate.

Narrator: What does the woman say about the class?
a. She does not like the class.

b. It is not a required class.

c. She has already taken the class.

d. The man will have to take the class.
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2. Man: I need an advisor’s signature on my course request form. Could I make an
appointment, please?
Woman: Oh, well, you don’t need to make an appointment. Just wait here. I’ll get a
pen.

Narrator: What is the woman going to do?
a. Make an appointment.

b. Give the man a pen.

c. Sign the form for the man.

d. Wait for the man.
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3. Woman: What did you do after you lost your passport?
Man: [ went to see the foreign student advisor, and he reported it to the Passport
Office in Washington.

Narrator: What did the man do after he lost his passport?
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a. He went to see the foreign student advisor.
b. He went to Washington.

c. He wrote to the Passport Office.

d. He reported it to the Passport Office.
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4. Woman: When is John coming?
Man: Well, he said he’d be here at eight-thirty, but if I know him, it will be at least
nine o’clock.

Narrator: What does the man imply about John?
a. John is usually late.

b. John will be there at eight-thirty.

c¢. John will not show up.

d. John is usually on time.
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5. Man: Excuse me, Miss. Could you please tell me how to get to the University City
Bank?

Woman: Sure. Go straight for two blocks, then turn left and walk three more blocks
until you get to the drugstore. It’s right across the street.

Narrator: What can be inferred about the man?
a. He is a student at the university.

b. He is not driving a car.

c. He knows the woman.

d. He needs to go to the drug store.
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6. Woman: Are you still going to summer school at the university near your parents'
house?

Man: That plan kind of fell through because there weren’t enough courses.
Narrator: What does the man imply?

a. He could not stay with his parents.

b. He did not want to change his plans.

c. He will not go to summer school.

d. He has completed all the courses.
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7. Man: Have you bought your books yet?
Woman: I tried to, but the math and English books were sold out.

Narrator: What does the woman mean?

a. She will go to the bookstore.

b. The books were too expensive.

c. There weren’t any math and English books left.
d. She does not need any books.
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8. Man: Is that Mike’s car? I thought you said that Mike was spending spring break in Florida.
Woman: That’s Mike’s brother. He’s using the car while Mike’s away.

Narrator: What does the woman imply?
a. Mike does not have a car.

b. Mike’s brother is taking a break.

c. Mike is in Florida.

d. Mike is visiting his brother.
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9. Man: Excuse me. Could you tell me when Dr. Smith has office hours?
Woman: Not really, but there’s a sign on the door I think.

Narrator: What does the woman imply that the man should do?
a. Knock on the door.

b. Come back later.

c. See Dr. Smith.

d. Look at the sign.
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10. Man: Tom wasn’t in class again today!
Woman: I know. I wonder whether he’ll show up for the final exam.

Narrator: What can be inferred about Tom?
a. He has finished the class.

b. He has been sick.

¢. He does not have to take the final exam.
d. He is not very responsible.
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11. Man: I’'m not sure what Dr. Tyler wants us to do.
Woman: If I were you, I’d write a rough draft and ask Dr. Tyler to look at it.

Narrator: What does the woman suggest the man do?

a. Ask Dr. Tyler to clarify the assignment.

b. Show a preliminary version to Dr. Tyler.

c. Let her see the first draft before Dr. Tyler sees it.

d. Talk to some of the other students in Dr. Tyler’s class.
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12. Man: Dr. Taylor’s class is supposed to be really good.
Woman: The best part is I can use my roommate’s book.
Man: I’'m not so sure about that. I think they’re using a different book this semester.

Narrator: What does the man imply?

a. The woman’s roommate took a different class.
b. The book is very expensive.

c. The textbook may have been changed.

d. The course is not offered this semester.
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13. Man: I'm going to get Sally a bike for Christmas.
Woman: Are you sure she’d like one?
Narrator: What does the woman imply?

a. Sally may get a bike for Christmas.
b. Sally already has a bike like that one.
c. Sally likes riding a bike.

d. Sally may prefer a different gift.
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14. Man: I signed the contract.
Woman: Do you really think you can work and go to school full time?

Narrator: What does the woman imply?

a. The man may be taking on too much.
b. The job is more important than school.
c. The opportunity is very good.

d. The contract may not be valid.
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15. Man: It’s your turn to call the names on the list if you want to.
Woman: I think I'1l pass this time.

Narrator: What is the woman going to do?
a. Spend some time with the man.

b. Make a list of the names.

c. Pass out the names.

d. Let someone else call the names.
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16. Woman: How is your experiment coming along?
Man: It’s finished, but it didn’t turn out quite like I thought it would.

Narrator: What does the man mean?

a. The results of the tests are not available.

b. The experiment had unexpected results.

c. He has not completed the experiment yet.

d. It is taking a lot of time to do the experiment.
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17. Man: What did you decide about the scholarship? Did you fill out the application?
Woman: I’'m going to give it all I’ve got.

Narrator: What does the woman mean?

a. She will try her best.

b. She has to save her money.
c. She is still undecided.

d. She needs an application,
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18. Man: Dr. Taylor must have really liked your paper. You were about the only one
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who got an A.

Woman: I know.

Man: So why are you so down?

Woman: He never seems to call on me in class.

Narrator: What does the woman imply?
a. She likes Dr. Taylor’s class.

b. She is not sure how Dr. Taylor feels.
c. She did not get an A on the paper.

d. She is not doing very well in the class.
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19. Woman: Susan told me what you said about my accent.

Man: I don’t know what she told you, but I really didn’t mean it as a put-down.

Narrator: What does the man mean?

a. He did not mean to insult the woman.

b. What he said to Susan was true.

¢. The woman does not have an accent.

d. Susan did not report the conversation accurately.
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20. Man: Did you ever apply for that scholarship? You weren’t sure whether you
wanted to compete with all those applicants.
Woman: I decided to go for it!

Narrator: What does the woman mean?
a. She did not apply yet.

b. She is still not sure.

c. She has decided to compete.

d. She already has a scholarship.
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21.Man: Let’s go to the dance at the Student Center on Friday.
Woman: Sounds great, but I’m going to a lecture. Thanks for asking me though.

What does the woman imply?

a. She is not interested in the man.

b. She does not like lectures.

c. She would go out with the man on another occasion,
d. She would rather stay at home.
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22. Woman: Barbara sure likes to talk on the phone.
Man: If only she liked her classes as well!

Narrator: What does the man imply about Barbara?
a. She does not put much effort in her studies.
b. She is very likable.

c. She prefers talking to the woman.

d. She has a telephone.
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23. Woman: I used to teach English before I came back to graduate school.
Man: No wonder you like this course!

Narrator: What does the man mean?

a. He does not like English.

b. Graduate school is easier than teaching.

c. It is not surprising that the woman is doing well.
d. The course is very interesting.
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24. Man: What are you going to do this weekend? Maybe we can play some tennis.
Woman: Don’t tempt me. I have to study for my qualifying examinations. I take them
on Monday.

Narrator: What does the woman mean?

a. She does not know how to play tennis.
b. She has to study.

c. She does not like the man.

d. She does not qualify to play.
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25. Woman: We’re going to the library. Want to come along?
Man: I’m waiting for the mail to come.

Narrator: What does the man imply?

a. He does not like the woman.

b. He does not usually study at the library.
c. He has received a letter.

d. He will not go to the library.
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She is sorry that the man was denied his request.
He is surprised that the woman was denied her request.
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13. Man: You mean Dr. Franklin said you couldn't have an extension?
Woman: He said it was not his policy.
Man: Really?
Woman: Yes, so now I have to work over the holiday weekend.

Narrator: What had the man assumed?

A. Dr. Franklin is not very understanding.

B. The extension was a very bad idea.

C. He is surprised that the woman was denied her request.
D. The professor does not have a policy.
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5.Man: Excuse me, Miss. Could you please tell me how to get to the University City

Bank?
Woman: Sure. Go straight for two blocks, then turn left and walk three more blocks

until you get to the drugstore. It’s right across the street.

Narrator: What can be inferred about the man?
a) He is a student at the university. (% ¥Y/9)
b. He is not driving a car. (% ¥7/A)

c. He knows the woman. (% /%)

d. He needs to go to the drug store. (8.1%)
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11. Man: I’'m not sure what Dr. Tyler wants us to do.
Woman: If I were you, I’d write a rough draft and ask Dr. Tyler to look at it.
Narrator: What does the woman suggest the man do?
a. Ask Dr. Tyler to clarify the assignment. (/. 6¥/A)

b. Show a preliminary version to Dr. Tyler. (/. ¥¥/4)
c. Let her see the first draft before Dr. Tyler sees it. (/. 4/v)
d. Talk to some of the other students in Dr. Tyler’s class. (/. \/%)

Jrol o 5 i 5 51 Oliedsl pe Hlebl o w08 w550 5057 ¢ opl >
Ly cath 4§ olasl an i ol m y doyls s 5 &S glani 51 Sl e oS
el it 5 BB 25 ey gt ool 4 Lo gy o (gla ey Ol 3 ey 5
15-Man: It’s your turn to call the names on the list if you want to.
Woman: I think I’ll pass this time.
Narrator: What is the woman going to do?
a. Spend some time with the man. (/. v/Y)
b. Make a list of the names. (/. Yf /¥)
c. Pass out the names. (/. \¥/5)

d. Let someone else call the names. (/. OA/Y)
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21-Man: Let’s go to the dance at the Student Center on Friday.
Woman: Sounds great, but I’m going to a lecture. Thanks for asking me though.

What does the woman imply?
a. She is not interested in the man. (/. VY /0)

b. She does not like lectures. ¢/ ¥/ v)

c. She would go out with the man on another occasion, (7. 80 /Y)
d. She would rather stay at home. (/. ¥4 /o)
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Abstract

Implied meaning (hereafter, non-literal or indirect implicature) is studied in the field
of pragmatics which considers the intended meaning in the context of the situation
(Yule, 1996). The implied meaning is not denotatively expressed, but it is only
understood through the shared knowledge of the interlocutors. This study explores
the MA Persian speakers' lack of mastery on the listening module of TOEFL (Test
of English as a Foreign Language) since they cannot comprehend the implied (i.e.,
non-literal) and consequently, they achieve unsatisfactory results in listening
section. Sixty-two MA graduate students took the TOEFL listening module and they
were divided into two groups of high and low achievers based on their test scores.
Data were analyzed through the theoretical framework of Gricean Maxims (1975).
K-S test and independent samples #-test showed that the sub-groups of high and low
achievers are significantly different in understanding the implied meanings of
relevance and quantity maxims. However, both high and low achievers were not
significantly different in quality and manner maxims; however, the scores of high
achievers were greater than the low achievers. The difference did not meet the
significant level (.05). The findings of the study suggest that teachers should focus
on relevance and quantity maxims as the problematic maxims in recognizing the
implied meaning of the items. The nature of relevance and quantity maxims should
be clarified to the MA learners who need to infer the implied meanings of the
TOEFL listening module.
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Linguists always note the study of sentence meaning because an utterance may
convey various interpretations. Implied meanings of these interpretations may not
attract the attention of people since they are so conventionalized that we consider
them as literal. However, they may hinder communication or cause
misunderstanding on the part of the listener or reader. This problem can be amended
through apologizing or giving background knowledge. Although everyone has
various interpretations of the utterances, the context of the situation may limit a set
of meanings. In this case, the listeners' meaning can be different from the speakers'
intended meaning which is implied and this is the role of the listener or reader who
should discover the implied or indirect meaning of the utterances. Thus, the
receivers should distinguish the sentence and utterance meanings of the senders'
speech. Certainly, linguistic structures convey fixed meanings at the syntactic level
(e.g., It is very hot.) to open a small talk on the bus. This is different from the same
utterance (e.g., It is very hot.) when the speaker implies a request (i.e., get me a
glass of water.). If the addressee does not understand the implied meaning of the
latter, he/she may get confused (Verschueren, 2016).

In this study, we analyzed the participants’ responses to pragmatically loaded
TOEFL short dialogues to identify the characteristics that made them difficult for
MA students. The origin of the difficulty of understanding the nonliteral meaning is
the employment of Grice cooperative principles in the tests. The short dialogues,
which are characterized by the quantity principle, are the most difficult ones but
those that are characterized by the relevance principle are the simplest. These simple
dialogues may become difficult if they are culturally loaded or if there is a
combination of implicatures. Some items are tricky and do not indicate the
complexity of the dialogue or the implicature. Although the words “implied” and
“inferred” are interchangeably used, they do not convey the same meaning and are
not processed similarly. They may be a source of difficulty even for native speakers.
If words such as “imply” “mean”, and “suggest” are used in the item (e.g. what does
the man imply?), it is the signal that there is an implicature in one of the utterances
in the short talk exchange. This can help the learner to identify the nonliteral
meaning. Although the scenarios in the TOEFL exam correspond to the real
communication context, there is no one to help and signal the learner that her/his
interlocutor may convey a nonliteral or implied meaning. In sum, it is recommended
to consider these as well as Grice principles in teaching and learning listening
comprehension module .

The study of the application of Gricean principles in the TOEFL listening exam
revealed the difficulties in inferring the implied meanings of the listening items
which contain pragmatic and connotative aspects of language. Thus, the learners
even at the graduate level need to learn the inferring strategies. Administrators of the
listening comprehension test may encourage the students to focus their attention on
the implied meanings. Moreover, this study reveals the effective role of the
distracters which may be used as an inappropriate implicature .

Further research may deal with the other international exams like IELTS,
TOLIMO, GRE to discover the nature of listening items, their correct choices, and
distractors as well. Reading, speaking, and writing skills could be the subject of
future studies since both receptive and productive language skills need to be
evaluated in terms of the quality of their items regarding the reliability and validity
of test construction.
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